Are problems in developing countries worse than developed ones?
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At times, third world counfries do not contribute to the industrialized
economy 3s those in first world countries, yet receive the benefits I
from it and them.

Problems in the developing world are worse than problems in the

L UGGESTED COM d&"-‘E-'h]i:lE-'d wworld.

some i economisis have claimed that the indusirialization
and growth in the first world depend on impoverizshment in
the developing world. This is because industrialization in the
first world offen requires a cheap supply of global workforce
which the third world provides. By providing this cheap
|abour, third world countries do contribute to the economic Depending on the situation. One can argue that a citizen of a developed country is less likely to
owth in the first world and this justifies the receiving of . . - - - \ .
gri o 1S TSR T ane s Justies e resing observe the same issues (even the severity of it, similar or not) than that of a less developed one.
enefits . .. : ) )
We perceive less of it as we believe it isnt as bad because we dont see it while we are
B bombarded with images, articles and pleas of others believed to be far worse
o nimchimpshy (464)

For warious structural reasons, governmsents in the developing world
can nat deal with problems in their states. Their inabiliy to deal with
these protlems means that peopls necessarily have to suffer mors

and suffer kenger than people Bving in developed countries.

A ST S0 | e |
Wyria (1} ki

AMGGESTED COM

Pros Cons
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some expers claim that infernational aid does not help
developing couniries solve their problems. In some cases, it
might even make them worse or create new ones.

1 1ma ago -
° nimchimpshy (464)

Froblems are problems for thoss who hawve it. So. it will d2pend on
which of the worlds you are in.
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It is important to establish severity among varous problems
because that determines how we prioritize issues and
allocate resources
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Problems in the developing world are wiorse than problems in the
developed workd.
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Depending on the situation. One can argue that a citizen of
a developed country is less likely fo cbserve the same
iszues (even the severity of it, similar or mof) than that of a
less developed one. We perceive less of it as we believe i

iznt 33 bad because we dont see it while we are bombarded
with images, articles and pleas of others believed fo be far
wWorse
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Problems in the developing world are wiorse than problems in the
developed workd.
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Developed countries have eslablished support structures fo
help those with serious problems
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Many basic needs arz not met in third-world countries, whersas they
are in first world countries.

SUGCESTED PR
Consider ¢ United Mations SDG, Goal order are positioned
by order of imporiance. If the problem given has a grealer
repercusszion to the survival of its constituents, It could be
argued that the problem caused to the society is of higher
priority. (The life of the individual is the smallest and a
fundamenial unit of a society: If no individual survive there
is no society)
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Ciften a perceived position of power or development ower others may
lead to ¢ greater injustices than the ones that tried to solve.
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Thi= iz a con actually, because it makes the problems of the
third world harder to solve; problems that are harder fo
solve are worse problems

2y ago
' Hebrewsfouri2 (2]

O Rates of poverty are higher in developing countries, which makes
their populations maors vulnerable and less likely to be able o
support themsslves in emergencies or harsh tmes.
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‘Rates of 'povery™ —from whose perspective and using

what mathematical modelfalgorhythm? Perhaps defining
‘poverty” would be a good siart.
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Problems in the developing world are wiorse than problems in the
developad waorld.
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‘Problem” is imprecise; “challenge” is a better choice



